Ableitungen der Grundfunktionen

fl@)=c mitceRfest | Dy =R fllzy=0 Da =R
flz)=2" mitreR Dy abh. von r || f/(x) =raz""! | Dy abh. von r
f(a:):x Df:R f’($)=1 fo:R
f(:a:) =z .Df =R f’(:c) =2z fo =R
fley=z Dy =R\{0} | f(z}=—5z |Dy=R\{0}
flz) =z Dy =Ry f'@)=55 | Dp=R'
f(:r:)ze"” .Df:]R f’(ﬂ?) =e* Df!ZR
flz)=Inz Dy =Rt fllz) =1 =RT
Ableitlingsregeln
(| (F@)+g(2)) = F(2) + ¢ (=)
\C (f(z) = g(z)) = f'@) -9 (=)
[y = i)) (c- f(z)Y =c- f'(x) ‘mit ¢ € R fest
\ (o | U@ 9@) = f(z) - 9() + f(2) - 9'(a) (Produltregel)
on| (@Y _ F@)-9e) - f(2)-d(2) o
" (59 (o) (Quotientenrel)
Wi ) | (Fla@) = fg(2)) - 9'(2) (Kettenregel)
]
o) (ffl(y))' = f’gas) mit y = f(z) bzw. z= f"{y) (Umkehrfunktion)
Wichtige Beispiele
f(z) =a® = ¢e*% mita>0 Dy=R || f(z)=0a"lna | Dp=R
f(z) =log, z = 11;2— mit a >0,a5%# 1| Dp=R" | f'(z) = a:iim Dp =Rt




